(aEIGER I ICL 14 Natlirliche Zahlen | Multiplikation

Raummafie in 2 Level
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Level 1 Level 2
8,296 m3 = 8296 dm? 27,3m3= 27300 dm?
7dm?3= 7000 cm? 9,36 cm? = 3360 mm?3
4m3 278 dm3 = 4278 dm? 8m? 6dm3= 8006 dm?
13 cm? 24 mm?3 = 13024 mm3 5cm?® 4mm3= 5004 mm3
2300 dm3 = 23 md 450 dm3 = 0,45 m?
28 004 cm?3 = 28,004 dm?3 4028 m3= 4,028 dm?3
191= 19 dm? 5m3= 50 hl
0,21= 0,2 dm?3 8dl 6ml= 806 cm?
4801 = 4,8 hl 5hl 21= 500 dm3
3dmi= 31 9,7m?3= 97 1
25cm® = 2,5 cl 3dl 6cl 4ml= 364 cm?
2,85dm3 = 28,5 dl 21 3cl= 2010 cm?
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